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Virtual Work
Rigid bar in horizontal plane
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Infinitesimal kinematically consistent displacements

Virtual work
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Virtual power for ground connections is zero because the velocity is zero. Virtual power across
internal joints is zero because the force of link i on link j dotted with the velocity of the joint will
be equal and opposite to the force of link j on link i dotted with the velocity of the joint.
However virtual power across internal springs or dampers must be included.
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Virtual Work for Slider Crank
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